T 2 PHEBVEHEEUEE R R 2R
105 E2AEE A B2 4k i
B EIER
HH FHRBEAR E 245 E ]
T | math)
44
I 66-76(34.4-39.6%) 70 36.46%
ME 10 5.21%
—f%RE Rea] BRGERREEAHEET
BEE 18 9.38%
= B 98 51.05%
HERH 12 B3 ({REB4THE) 12 6.25%
HE
FEH(ES)RHE 18 EZ3({RUBLTHE) 18 9.38%
& 16 8.33%
HERH BRI R E BT
T EER] e 14 7.29%
5 BEET
& 22 11.46%
BE(EB)EHE BRI A E BT
EE 12 6.25%
= =H(ED 80 &4) 94 48.96%
H(ER)FHHESH Z/) 30 5y 52 27.09%
TEHEEETE 184~192 192 243y
SE A R R 0~8 0 i
. 18 5y (&g M&FETEE) - AETE
JEEIRIE 18
57)
PR 210 £ 210 £fi
. 160 E257 (4% B HEREI TE 1R TG TR
BRES 160 £243
)
EREREE AR %71 85% 85%
R - -
HEREERIHEWMEEHE Y « MIgE Z/0iEHE 80 By 80 5257
Pap it AL 60 E4YLL bRk 60 £243
FE(ER)RHE M58 Z/0 30 ErDL B 30 E55

ft

| o EALEED TRy
2« IRUEIB=TEEE

3 o HEECEEE (BB R 2 B E B R E
4 o ETHSEEE (ED) T H S RE

By iEER

ERTE G301 1




